OSBI CLERK & PO 2022

REASONING | ENGLISH | MATHS

~ G,
, .."-J,‘. o
LA B Ry ]
AL :

l"

SHUBHAM MAHENDRAS NITIN MAHENDRAS KULDEEP MAHENDRAS
(MATHS) (ENGLISH) (REASONING)

09:00 AM | LIVE



=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777



monika kumari 10 hours aga

Zikra Yasmeen 4 hour
Reasoning hw= | ) _
inside-abdc Reasoning

Outside -=fg Inside ABCD
Thank you sir very nice session Out=ide EFG

Read more

ry &R0 Reply & ui'l_l Ill_"[l Reply

Muskan Rai 14 hours agc ﬁf Meha Singh 6 hours ago

OUTSIDE FACING = ABG Reasoning hw=
INSIDE FACING = ECDF

ST fi
THANK U SIR FOR UR GUIDAMCE Inside...ABCD
Outside...EFG

Read more
51 §F Reply
i &P  Reply €
@ Lucky Dey 1 hour ago 8 subscrib
Reasoning Hw-Owm-EF G
In-ABCD

ry &H Reply -




Miharika Jha 14 hours agce
Reasoning HW
Inside ABCD. Outside EFG

5 S8 Reply

Mitika Gupta
Homework

Reasoning
inside DBAC
outside EF G




7 People A, B, C, D, E, F and G are sitting around a circular table. In
which 3 people are facing outside and 4 of them facing inside the

circle. Only three people sits between A and G who is facing outside.

D sits immediate left
direction. F is not an

same direction. G sit

of G and B. The neighbour of E facing same
immediate neighbour of E but both are facing
s third to the left of E. D is not facing outside.

7AW A, B, C, D, E, F 31T G Uk MATHR ¢ oh IRT TR 96 3l [-ow
3 GIT STE ohT ATHAT oY T8 & ST 390 o 4 B o 37eT T ATHET T & B

A 3R G o =T S

A1 T 434 2 ST STed SRl ATHAT R T 21 D, G

31X B o dcehTel AT0 93T 81 E & USIET @1 {391 o/t ara-1 S @I 2 F,
E AT AcehTel USIET Tl & cifeh ST Ueh &f [T h1 ATHAT I ® 81 G, E
% ST & e TATT TR 21 D 18X T |THAT 81 T &1 B




7 People A, B, C, D, E, F and G are
sitting around a circular table. In
which 3 people are facing outside
and 4 of them facing inside the
circle. Only three people sits between
A and G who is facing outside. D sits
immediate left of G and B. The
neighbour of E facing same
direction. F is not an immediate
neighbour of E but both are facing
same direction. G sits third to the

left of E. D is not facing outside.



Alphabetical Series

Chinese Coding — Decoding

Inequality

Syllogism

Distance & Direction

Circular based Sitting Arrangement ( Inside Outside )
Linear based Sitting Arrangement

Floor Based Puzzle

Day and Month Based Puzzle

Year based Puzzle

Uncertain ( Circle ) Based Sitting Arrangement



SQIG%17I@8#4W3F5ZUJ2Y©O6VP?

Q. Four of the following five are alike in a certain way on the basis of

their positions in the above arrangement and so form a group. Which is

the one that does not belong to the group?

. SURITh sATEAT W AUHT fefa o TR W, AeTeiiaa uier 1 9 9w,
AT € | T 991 § 3R 3ATTT Tk HE d9T1d gl e § g ar 3|
U | Hal ferd T8t 32

(1)S1%  (2) 118 B3)GI1I  (4) 435 (5) 172



SQIG%17I@8#4W3F5ZUJ2Y©O6VA?

Q. How many such symbols are there in the above arrangement, each
of which is immediately preceded by a consonant and not immediately
followed by a vowel?

. IUH STAEAT H Tohd= TH Tdlteh & (ST-eh qid Ul Ueh oawi & AR T
TTE Ueh T &1 &2

(1) None (2) One (3) Two (4) Three (5) More than three



. -
SQ1G%171@8#4W3F5ZUJ2YOO6VP? |[d

Q. Which of the following is seventh to the right of thirteenth
from the right end?

. Fraferfia § 9 a5 T, 270 B0 T s R 2 e

(1) © 2)J 3) U 47 ) %



SQIG%17I@8#4W3F5ZUJ2Y©O6VP?

Q. What will come in place of the question-mark (?) in the following

series based on the above arrangement?

. IUTH STTEAT oh TR W A TeTRad SiEret 1 9 =g (2) o T W
T ATRT?
%17, @8#,3F5,(?)

1)Q2© @2)2YO© @)V?2O @O (5 UQO



SQIG%17I@8#4W3F5ZUJ2Y©O6VP?

Q. How many such vowels are there in the above arrangement each of

which is immediately preceded by a symbol and immediately followed

by a number?

1. SURIRH SATEYT | {ehal U8 &1 § RAH ¥ Teeh o T Ugel Ueh Telieh ¢
R LA e Teh HEAT 22

(1) None (2) One 3) Two (4) Three (5) More than three



Study the following information carefully and answer the questions given below.
In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhy’

‘oa ah bo’ means 'we you shyam’

‘rmn bh ru’ means ‘abhi ram arun’

What does the code 'vk' stand for? / &g 'vk' &l &7 3 ?J?
01. arun 02. abhi 03. vivek 04. shyam 05. None of these



Study the following information carefully and answer the questions given below.
In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhy’

‘oa ah bo’ means 'we you shyam’

‘rmn bh ru’ means ‘abhi ram arun’

What does the code 'bh' stand for? / IS 'bh' &7 FT 7Y §?
01. govind 02. ram 03. we 04. shyam  035. None of these



Statements :
C>A2T,S<E=T

Conclusions :
1. A>E
2. C>S



Statements :
F<U<SN, D>H<U-=B

Conclusions :
1. H<N
2. H=N



Statement:
GLSL=20>2W2=2I<N

Conclusions :
. I <L
Il. L =1



Statement:
GLSL=20>2W2=2I<N

Conclusions :
. O>GQG
II. W< N



Statement:
R>M2>2T<Q=S

Conclusions :
. R>Q,
11.Q = M



Q. In certain code language IMPRUDENT is written as 9-4-7-9-3-4-5-5-2 and
GARRULITY is written as 7-1-9-9-3-3-9-2-7 then how will MISTLETOE be
written in that code language?

v, Uek fAfara g 9reT § IMPRUDENT <Y 9-4-7-9-3-4-5-5-2 for@t Srar g iR
GARRULITY &I 7-1-9-9-3-3-9-2-7 TeT@T STaT § 1 39 IS 9TNT W MISTLETOE

T FHH TeTET A=E?
(1) 13-9-19-20-12-5-20-15-5 (2) 4-1-1-2-3-5-2-5-5
(3) 4-9-1-2-3-5-2-6-5 (4) 4-0-1-2-3-5-2-5-5

(5) 4-9-1-2-3-5-2-5-4



If 1t 1s possible to make a meaningful word with the 2nd, the 3 and the 8 letters of the
word ‘ABSOLUTE’, then which of the following will be the 3 letter from the left of that

word? If more than one such word can be formed give ‘X’ as the answer and 1f no such

word can be formed give ‘Y’ as the answer.

aIfe 3158 'ABSOLUTE' o Y, <6l 371X ATl 37eT ¢ Ueh AT F1o€ ST €9l €, 1 39
I1o¢ o I O [ THRT 318 T=ITeiRad § § his 91 87 AfS UH Ueh H 371k Y16 o Hehd & dl
I X' & I IS UHT hig Y18 Tl ST ST FohdT & dl 3T "Y' 3|

1. X 2.Y 3.E 4. S 5.B



Q. In the following questions, relationship between different elements is shown 1n the
statement. These statements are followed by two conclusions I and II. Find which of

the two conclusions I and II given below them 1s/are definitely true. Give answer—

(1) If only conclusion I is true. / i et 5y [ I 2

(2) If only conclusion II 1s true. /At haet ey 11 9 B

(3) If either conclusion I or II is true. /AT AT 1 fshY [ A at 11 9 =

(4) If neither conclusion I nor II 1s true. /Aafe T ar ey [ TR I 1 T 2

(5) If both conclusions I and II are true. / 3¢ T SRy 1 3T 11 9 B



Statement:

hY-:
Some bottle are water. F ISR ICIR
Some water are not river. F T eI RS
Only a few river is dark. ol FD TS B,
Conclusion: e
I. Some dark are not bottle. [. 3% gleh S1e gl ol

II. All water are not dark. L. 9} IreX €1k Tal %



Statement:

Some bottle are water.

Some water are not river.

Only a few river 1s dark.

Conclusion:

I. Some dark are not bottle.

II. All water are not d

ark.



Statement:

All car are bike.

All helmet are safe.

Only a few bike 1s helmet.
Conclusion:

I. Some bike are not safe.
II. Some car not being safe
1s a possibility.

hY:

Tl R 15

ql STHE FUerd

FIT FHS T3 TAHE <.
fsepy:

D a3 GUaId Tl ol

II. %S HE b GUeId 4 8
T EWTET 2



Statement:

All car are bike.

All helmet are safe.

Only a few bike 1s helmet.
Conclusion:

I. Some bike are not safe.
II. Some car not being safe
1s a possibility.



Statement: FT-

Some book t . R -
A(ﬁne O.(; arc no COpy %h@ fi)oh ﬂ T-l%(T %|
pencil are eraser. . :

gl ifget S 2.

N N\ ¥
HIA LT T ol

Only eraser are book.

Conclusion:

[. Some book are copy. o .

I1. All copy are book. L o9 W%'
II. &t il o 8.




Statement:

Some book are not copy.
All pencil are eraser.
Only eraser are book.
Conclusion:

I. Some book are copy.
II. All copy are book.



Statement:

Y-
Some A are not Q. D A, Q T 8
Some Q are not P. 5 Q, P 7

Only a few P 1s O.

I FHD & P, O 2

Conclusion: -

[. Some O are not Q I 50, Q THi g

[I. Some P are not Q. - ’ " A
. FSP,QTHT




Statement:

Some A are not Q.

Some ( are not P.
Only a few P 1s O.

Conclusion:
[. Some O are not Q
II. Some P are not Q.



> Q. Deepak walks 5 km. towards south then he turns to the left and walks 5 km.

Again he turns to the right and walks 3 km. Now in which direction is he walking?
(1) North-east (2) South-west (3) West

(4) South (5) East

9. tureh, ST ST 3R 5 TeheTiHiet TreTdT & T a8 a8 3TR gt ¢ 3R 5 fehtfT sretn
1 9% U 10 0T € 3R 3 Rt wrerar #1 o o fonw faom F v e @2

(1) TS (2) STIUT-TT2T (3) Ufm

(4) ZferoT 5) ud



Government , senior , xeposed is written as 21& , 9& , 12&
invited , sartorial , eleven is written as 12(@ , 20& , 9@

What is code for “consultant” < foeT0 STl Shig AT BRTT?

(1) 24&
2) 21@
3) 18@
4 21&
(5) None of these



Government , senior , xeposed is written as 21& , 9& , 12&

invited , sartorial , eleven is written as 12@ , 20& , 9@

What is code for “apple” o feT8 HHTIIT RIS AT EETT?

(D) 12&

(2) 6@

) 3@

4) 7&

(5) None of these



Eight friends A B C D E F G H sitting around a circular table . Some of them face inside and

some of them faces outside the centre. Each of them is an equal distance from each other. B is
sitting third to the right of A. H sits third to the right of G. D is not the immediate neighbour
of A. H is the immediate neighbour D. D sits second to the right of B. E sits second to the
right of F who sits second to the left of H. C and E faces same direction. D and C faces

opposite direction. C sits second to the left of D. E faces H.E faces the centre.

AT ABCD D E F G H Tk MATHR HA o TR AR 9 51 ITH | TS I TG AR AR FD
T <% < ATEY BT 81 3T | Teleh Ueh AL § Teh BT St WX 21 B, A o ST § A6 ¥ W et
21 H, G & 3 & 8 T W S3BT 21 D, A T Hehedq =i 721 21 H, D T deehTet USiEt 21 D,
B o I ¥ T FAT W AST 8| E,F o I & O A3AT ¢ A1 H o 973 TR A 9371 2|C ARE
aaT faom it AR T 21 D @R C forodfia e &t st e@d &1 €, D F A A g@a ASaAT 2 E, H
o |THA 93T 8| E ohg <At 3T o @T B




Eight friends A B C D E F G H sitting around a circular table . Some of them face inside and
some of them faces outside the centre. Each of them is an equal distance from each other. B is
sitting third to the right of A. H sits third to the right of G. D is not the immediate neighbour of
A. H is the immediate neighbour D. D sits second to the right of B. E sits second to the right of
F who sits second to the left of H. C and E faces same direction. D and C faces opposite

direction. C sits second to the left of D. E faces H.E faces the centre.



Seven person Sonu, Iram, Ritu, Tara, Hello, Jack and Om are sitting in a row and each of

.fé them facing towards North but not necessarily in the same order.

Sonu is not the neighbour of Tara. Om is not the neighbour of Tara. Hello is at one end.

Neither Om nor Tara is neighbour of Iram who is not at any end. Om is second to the right

of Hello. There are more than two persons between Tara and Jack. . All persons' positions

are clear.

A S Th T, 3O, T, AT, T, Sk 37 STIH Ueh UTth W o0 § ST ITH € Jedieh 3T chl TR
A T & TATeh Sl A1 foh SHT Sh W Bl

AT, AT AT TS TE 21 3T, TR R USIET 981 21 31l Ueh B U1 | 7 a7 37 3T 7 81 9,
30 o TSI 2 W1 feRdlt ot S ux T 21 31, T o ST g8 ) AT 3R STk o oftel &1 ¥ Afeeh
=afh 2| Tt safeat sht Rufa wE 2



Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate floor each of a nine

floor building but not necessarily in the same order. The ground floor is numbered 1, the

first floor is numbered 2 and so on until the topmost floor is numbered nine. D lives on
an odd-numbered floor below floor number 5. There are two persons living between D
and X. S lives on one of the odd numbered floors but not on floor number 7. There are
two people sitting between V and B. U lives on floor number 6. Q lives on the top-most
floor. V lives on an even numbered floor. B lives below V. C lives just above D’s floor .
TR A, Q, B, S, C, U, V, D and X. | ¥ Ueh 3T HIWTeT U Ueh A1 HISTeA <hl AR H &d 2
IR ST T2 foh Ueh &1 ShW W | et shl HGAT 1 8, Tge 1 HiNTST <hl €&AT 2 § 3R 3
TE I qoh AW HUL HISTeT hl T&AT AT T8 2l D, 91 W&AT 5 W el Teh foaud 6863t aret
T UR 1&g 81 D 3R X o ot &1 4tk &d 81 S forww wean areft wivret # o v m e 2,
eifera wirer wEaT 7 v 7 v iR B % Sfier ® Y st ed §1 U Wit a7 6 WEgar 21 Q
aH FUH WA OR AT Bl V Uk OH E&AT STeit Hister W @aT 2l B, VA fR war el C, D
&% T I ek ST L&l B



Nine persons A, Q, B, S, C, U, V, D and X. They live on a
separate floor each of a nine floor building but not
necessarily in the same order. The ground floor is numbered

1, the first floor is numbered 2 and so on until the topmost

floor is numbered nine. D lives on an odd-
numbered floor below floor number
S. There are two persons living
between D and X. S lives on one of the
odd numbered floors but not on floor
number 7. There are two people
sitting between V and B. U lives on
floor number 6. Q lives on the top-
most floor. V lives on an even
numbered floor. B lives below V. C

lives just above D’s tloor



Seven persons - I, J, K, L, M, N, and O have their |1d ARl - 1, 1, K, L, M, N, 3R O o SiHHfe
birthdays in different months - January, March, 3{cII-HcT ]:I%ﬁ_"ﬁ - \THOIJ:\I, e , A , Glj,
April, June, July, September, and December, but RN I:§, ferde 3T ﬁwrﬁ%, AfehT ST el foh
not necessarily in the same order. =H s U 21 B SHfe 31 feat ST s |
I’s birthday falls in month having 31 days. J’s T 8| J T S-S HEHT I o ST-H{e o Hgid
birthday month is after I’s birthday month. N’s e 21 N T STAfeT 31 foi arer g8 § ST 2
birthday falls in month having 31 days. J’s J T ST HEET N % SfeT & 92 % are
birthday month comes after N’s birthday month. AT L 37 SR 30 R I g 21 K
L has birthday in a month having 30 days. K has o . ‘A A o
birthday in a month having 31 days but not in oo |cc;-! > 1Wﬁ¢ﬁ<‘>|'lﬁtl'§ﬁﬁ(\ﬁ% ) |°h-1 s
July and March. M’s birthday fall in a month iﬁf Hlj ﬁ T 1\,/\[ ohl\\rl-l-lld-i ,30 el et
having 30 days but before September. O’s <leh TR ¥ Het ATl e | ST &1 O T
birthday month is not after J’s birthday month. SRTC HEAT J o SFHTCH oh T o o1e e &1 J
J’s Birthday is not in December. M birthday falls I STHi feds ¥ Tl 81 M 1 SFfeT O |
before O but not in the month of June. Only et AT & Tiieh ST & e U A N 3R L &
three persons have birthday between N and L. S shaeT e AR ol ST




Seven persons - I, J, K, L, M, N, and O have their
birthdays in different months - January, March,
April, June, July, September, and December, but
not necessarily in the same order.

I’s birthday falls in month having 31 days. J’s
birthday month is after I’s birthday month. N’s
birthday falls in month having 31 days. J’s
birthday month comes after N’s birthday month.
L has birthday in a month having 30 days. K has
birthday in a month having 31 days but not in
July and March. M’s birthday fall in a month
having 30 days but before September. O’s
birthday month is not after J’s birthday month.
J’s Birthday is not in December. M birthday falls
before O but not in the month of June. Only
three persons have birthday between N and L.



Eight friends — Alia, Bhanu, Charu, Deena, Eshan, ATS S - 3 IIFE’I?»{I, ‘1-||~\-|3, <&, 3(|:||, é-‘%ll:l, t|'7|'i%|'1:|T,

Fatima, Gaurav and Hira purchased bungalows on same  TRq 37T S 7 SASIT-3TAT IS1 ohl Ueh Bl dRId
date of different ycears ViZ. 1988, 1993, 1995, 1996, aﬁm@-ﬁél 1988 1993 1995 1996 2000
2000, 2001, 2006 and 2009 but not necessarily in same 2001. 2006 Z’Fﬁ'{ 2009 c\1i<\=h-1 AT -lE'zhl‘ SH(TW
order. They all have purchased their bungalows on 1st of ’

T QI 3 |t 7 ST0-3T9 1A ok 1 57 1 S0
STet BRIG B (F1e- AHATAT ShT TUET o fefT hu

June of their respective years.

(Note- For calculation of time period, please consider

15" June 2018 as cut-off date.) 1 S[72018 ! THe-ATH T Ilﬁl)

Bhanu purchased his bungalow immediately before W = YT SAT SHT H 3ieh gt TSN <7 31T
D

Deena. ST oh S Shalel Ueh o3Teh o 3TYAT ST W,

OI;I}}/E 0;16 pers;n purcilase;d.his l;)ungalow between Deena Sree o g A G| ST T 7 e
and Eshan, who purchased in a leap year. . a .
o sl g7 AT 3 @iieT, 5214 39 12 9T U8

(@ . (a WA (a
Gy wilie hased) 12 vers an QLT 9T SATCTAT SHTAT @lie arett 7 af ggal! 371K
Alia was neither the first nor the last person to buy a T 2 STTRad IRy off| I3 F 1996 W U8 STl
bungalow. T2t @lier %|

Eshan does not bought the bunglow before 1996.

Two people purchased bungalow between Fatima and




Eight friends — Alia, Bhanu, Charu, Deena, Eshan,
Fatima, Gaurav and Hira purchased bungalows on same
date of different years viz. 1988, 1993, 1995, 1996,
2000, 2001, 2006 and 2009 but not necessarily in same
order. They all have purchased their bungalows on 1st of
June of their respective years.

(Note- For calculation of time period, please consider

1% June 2018 as cut-off date.)

Bhanu purchased his bungalow immediately before
Deena.

Only one person purchased his bungalow between Deena
and Eshan, who purchased in a leap year.

Two people purchased bungalow between Fatima and
Gaurav who purchased it 12 years ago.

Alia was neither the first nor the last person to buy a
bungalow.

Eshan does not bought the bunglow before 1996.



There are more than ten people sitting Q'Eﬁa:{ﬁ‘ 10 & 37fereh 4iwh S & |
in a circle. Each of the seats occupied ek T I Ueh A<k JoT 8 [34H &

by one person. Each of them is facing ng@aﬁaﬁ AR KLE

inside the circle. AT T WX S3T | B,E @raﬁ{@rﬁr
K is sitting third to L. B is sitting WASTZ | E and M & HeH & A T<h A
second to E. There are two people S | LJ and A T AT ﬁwq:cﬁﬁ

sitting in between E and M. L is an ¥, TIlch B @raﬁ{wmqﬁéa% | D
immediate neighbour of both J and A, and C,B U ShUTT: E‘:\'HB{E[WWﬁ‘
but not sitting second to B. D and C are a%‘%j N,M ﬁgﬁwmaﬁr%
sitting second and third to B ,ﬁﬁﬂ CHOTMEAT WAL 2 | M, A
respectively. N is sitting second to M, a;aéaﬁ-{ﬁ%ﬁ{wmméa% | E,J

but not seated to C. M is sitting third to T HFrE¥TAT W ISTE |
the right of A. E is sitting third to J.



There are more than ten people sitting
in a circle. Each of the seats occupied
by one person. Each of them is facing
inside the circle.

K is sitting third to L. B is sitting
second to E. There are two people
sitting in between E and M. 1 is an
immediate neighbour of both J and A,
but not sitting second to B. D and C are
sitting second and third to B
respectively. N is sitting second to M,
but not seated to C. M is sitting third to
the right of A. E is sitting third to J.



Q.1-2. Study the given information carefully and answer the
following questions. Point Q is 16m north of point W. Point A is
10m west of point K. Point S is Sm west of point W. Point K is 9 m
north of Point P. Point S is 25m south of point A..

& T THHRT T LTS h T i AR HHTTRId TT o I
| fiig Q, g W s s # 16 Hirex dhr g w2 feig A, Mg K+ 10
dret ufzm 7 fRaa 81 g S, g w a s derufgm a2 fog K, g p
% 9 Her s H frara 71 fg S, fofg A & 25 Hex afermr @ 21



Q.1-2. Study the given

information carefully
and answer the following
questions. Point Q is 16m
north of point W. Point
A 1s 10m west of point K.
Point S is Sm west of
point W. Point K is 9 m
north of Point P. Point S
is 25m south of point A..



Q.1. What is the direction of Point K with respect to Point S?
faig S o Haier | feig K bt fevm s 22
(1)East (2) South (3) North-east (4) South-east (5) North-west

Q.2. If point T is west of point P and north of point S, then what

is the distance between T and A?

afe feig T faig P o ufer it fig S I AR, @ T AR A F oftar
T g0 FT B2
(1)16m. (2) 25m. (3) 10m. (4) 9m. (5) Sm.



Eight persons - A, B, C, D, E, F, Gand H
were born 1n different months of January to
August of the same year but not necessarily
in the same order. Not more than one person
1s born 1n a month. G was born in a month
that has 31 days but not in the month of
May. There 1s a gap of one month between G
and A. A born somewhere after G. B was
born in the month which has the least
number of days. E was born immediately
after C. Number of persons born before E 1s
one more than the number of person born
after E. F born before D. There 1s a gap of

two months between A and H.

AR AR -A,B,C,D,E, F,GIANHTH &
Y o S § TTE o T ¥=T H&HT | Uar
BT o Ao SRt et foh it ohe 1 BT Th
e H Uk 9 31fren safth o1 s+ T i 2
G T SI+H 38 HeH ¥ g1 o fewt 31 fam g
& Afer o8 & R 1 7 G 3t A F ol

T TR o S 3| A, G % 18 gl Ua1 §aTl
2| B 36 HeH § a1 5T &, o ot ot

T 94 A 81 E, C % 31k 18 4aT gl
oMl E ¥ Y& UaT gC AHAT shl HEAT E o o1
3T §U A TRAT hl ST § Teh AT gl F 1
S D ¥ U8 371 =l A 3R H < oft=r 31 7
ST A 2l




Eight persons - A, B, C, D, E, F, G and H were born in different
@\ months of January to August of the same year but not necessarily in

the same order. NOt more than one person 1s
born in a month. G was born in a month
that has 31 days but not in the month of
May. There 1s a gap of one month
between G and A. A born somewhere
after G. B was born in the month which
has the least number of days. E was born
immediately after C. Number of persons
born before E 1s one more than the
number of person born after E. F born
before D. There is a gap of two months
between A and H.
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Eight employees J, K, L, P, Q, R, A and B give a
presentation on four different months of the year viz.
January, April, August and September, such that not
more than two employees give their presentations in each
of the months. Presentations can be given on either the
5th or 10th day of the month. No two presentations can
be given on the same day. J gives a presentation on 10
April. There are five presentations between the
presentations of Q and L. More than two-person give
presentations between the presentations of R and A.
There are two presentations between the presentations of
L and J. R and Q give the presentations in the same
month. B gives a presentation after K. The number of
employees who give presentations between the
presentation of A and B is the same as the number of
employees who give a presentation between the
presentation of K and Q. R gives a presentation in

September.

1S FHHERT S, o, TA, WY, R, AN, T AN s A41eT o6
=T HAT-IA HEHT W Teh Tl ad &l S,
3T, 3T IR foder, S fF T wda v T g
3Tk FHHTRT AT T[T 7 o Tl Hei- 3 5
3T 10 ARG ot &1 ST Hehd | 81 Tk & feq a2
SRERIT A& a1 ST Eeheli] J 10 3T ol Teh TE(d
AT 81 Q IR L Y S o it e Jfaat &l R
HIT A ! TEfdl o sfi<l a1 | ek sgieh Tediadl
4d 81 L 3R J 6T Seqfaat o e &t SEqfedi 8 R
3T Q Te & HEH H Tqfar &d 81 B, K % 918 T
TSIST 2T 8l A 3T B o USieyM o site Ui o
Tt AT shi AT 31 & & 5o fof K 37t Q
1 ISIEIM o S ISIEI S Tl SHHTTIET shl G
21 R sy & SSieH gar 2
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Eight employees J, K, L, P, Q, R, A and B give a
presentation on four different months of the year viz.
January, April, August and September, such that not
more than two employees give their presentations in each
of the months. Presentations can be given on either the
5th or 10th day of the month. No two presentations can
be given on the same day. J gives a presentation on 10
April. There are five presentations between the
presentations of Q and L. More than two-person give
presentations between the presentations of R and A.
There are two presentations between the presentations of
L and J. R and Q give the presentations in the same
month. B gives a presentation after K. The number of
employees who give presentations between the
presentation of A and B is the same as the number of
employees who give a presentation between the
presentation of K and Q. R gives a presentation in

September.



